VIIRS VHP NDE-2.0 Validation Report
 (Daily data)
Data Set compared-1:
ViirsVH4kmDaily_v1r11_npp_s201611241800000_e201611250000000_c201611250407262.nc
ViirsVH4kmDaily_v1r11_npp_s201611241800000_e201611250000000_c201611250401298.nc

Summary:
	variable
	size
	Total #
	Good #
	Error #
	Error rate
	Note

	reflectance_I1
	10000x3616
	36160000
	36075392
	84608
	0.00233982
	

	reflectance_I2
	10000x3616
	36160000
	36075391
	84609
	0.00233985
	

	temperature_I5
	10000x3616
	36160000
	36075462
	84538
	0.00233789
	

	reflectance_M3
	10000x3616
	36160000
	36075388
	84612
	0.00233993
	

	solar_zenith
	10000x3616
	36160000
	36076253
	83747
	0.00231601
	

	sensor_zenith
	10000x3616
	36160000
	36075434
	84566
	0.00233866
	

	solar_azimuth
	10000x3616
	36160000
	36076759
	83241
	0.00230202
	

	sensor_azimuth
	10000x3616
	36160000
	36075379
	84621
	0.00234018
	

	packed_cloud_mask
	10000x3616
	36160000
	36093681
	66319
	0.00183404
	

	PLATE_CARREE
	1
	1
	1
	0
	0.00000
	



Comparing Results:

compared variable name: reflectance_I1 vs. reflectance_I1
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36075392
errNum=       84608
errRate=   0.00233982

compared variable name: reflectance_I2 vs. reflectance_I2
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36075391
errNum=       84609
errRate=   0.00233985

compared variable name: temperature_I5 vs. temperature_I5
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36075462
errNum=       84538
errRate=   0.00233789

compared variable name: reflectance_M3 vs. reflectance_M3
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36075388
errNum=       84612
errRate=   0.00233993

compared variable name: solar_zenith vs. solar_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36076253
errNum=       83747
errRate=   0.00231601

compared variable name: sensor_zenith vs. sensor_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36075434
errNum=       84566
errRate=   0.00233866

compared variable name: solar_azimuth vs. solar_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36076759
errNum=       83241
errRate=   0.00230202

compared variable name: sensor_azimuth vs. sensor_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36075379
errNum=       84621
errRate=   0.00234018

compared variable name: packed_cloud_mask vs. packed_cloud_mask
DATA1           BYTE      = Array[10000, 3616]
DATA2           BYTE      = Array[10000, 3616]
totalNum=    36160000
goodNum=    36093681
errNum=       66319
errRate=   0.00183404

compared variable name: PLATE_CARREE vs. PLATE_CARREE
DATA1           LONG      =  -2147483647
DATA2           LONG      =  -2147483647
totalNum=           1
goodNum=           1
errNum=           0
errRate=      0.00000


Data Set compared-2:
ViirsVH4kmDaily_v1r11_npp_s201611250000000_e201611250600000_c201611250926313.nc
ViirsVH4kmDaily_v1r11_npp_s201611250000000_e201611250600000_c201611250922033.nc

Summary:
	variable
	size
	Total #
	Good #
	Error #
	Error rate
	Note

	reflectance_I1
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	reflectance_I2
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	temperature_I5
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	reflectance_M3
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	solar_zenith
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	sensor_zenith
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	solar_azimuth
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	sensor_azimuth
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	packed_cloud_mask
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	PLATE_CARREE
	1
	1
	1
	0
	0.00000
	



Comparing Results:

compared variable name: reflectance_I1 vs. reflectance_I1
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: reflectance_I2 vs. reflectance_I2
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: temperature_I5 vs. temperature_I5
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: reflectance_M3 vs. reflectance_M3
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: solar_zenith vs. solar_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: sensor_zenith vs. sensor_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: solar_azimuth vs. solar_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: sensor_azimuth vs. sensor_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: packed_cloud_mask vs. packed_cloud_mask
DATA1           BYTE      = Array[10000, 3616]
DATA2           BYTE      = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: PLATE_CARREE vs. PLATE_CARREE
DATA1           LONG      =  -2147483647
DATA2           LONG      =  -2147483647
totalNum=           1
goodNum=           1
errNum=           0
errRate=      0.00000

Data Set compared-3:
ViirsVH4kmDaily_v1r11_npp_s201611250600000_e201611251200000_c201611251554438.nc
ViirsVH4kmDaily_v1r11_npp_s201611250600000_e201611251200000_c201611251550121.nc

Summary:
	variable
	size
	Total #
	Good #
	Error #
	Error rate
	Note

	reflectance_I1
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	reflectance_I2
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	temperature_I5
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	reflectance_M3
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	solar_zenith
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	sensor_zenith
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	solar_azimuth
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	sensor_azimuth
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	packed_cloud_mask
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	PLATE_CARREE
	1
	1
	1
	0
	0.00000
	



Comparing Results:

compared variable name: reflectance_I1 vs. reflectance_I1
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: reflectance_I2 vs. reflectance_I2
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: temperature_I5 vs. temperature_I5
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: reflectance_M3 vs. reflectance_M3
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: solar_zenith vs. solar_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: sensor_zenith vs. sensor_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: solar_azimuth vs. solar_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: sensor_azimuth vs. sensor_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: packed_cloud_mask vs. packed_cloud_mask
DATA1           BYTE      = Array[10000, 3616]
DATA2           BYTE      = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: PLATE_CARREE vs. PLATE_CARREE
DATA1           LONG      =  -2147483647
DATA2           LONG      =  -2147483647
totalNum=           1
goodNum=           1
errNum=           0
errRate=      0.00000

Data Set compared-4:
ViirsVH4kmDaily_v1r11_npp_s201611251200000_e201611251800000_c201611252120150.nc
ViirsVH4kmDaily_v1r11_npp_s201611251200000_e201611251800000_c201611252116319.nc

Summary:
	variable
	size
	Total #
	Good #
	Error #
	Error rate
	Note

	reflectance_I1
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	reflectance_I2
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	temperature_I5
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	reflectance_M3
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	solar_zenith
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	sensor_zenith
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	solar_azimuth
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	sensor_azimuth
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	packed_cloud_mask
	10000x3616
	36160000
	36160000
	0
	0.00000
	

	PLATE_CARREE
	1
	1
	1
	0
	0.00000
	



Comparing Results:
[bookmark: _GoBack]
compared variable name: reflectance_I1 vs. reflectance_I1
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000
	
compared variable name: reflectance_I2 vs. reflectance_I2
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: temperature_I5 vs. temperature_I5
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: reflectance_M3 vs. reflectance_M3
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: solar_zenith vs. solar_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: sensor_zenith vs. sensor_zenith
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: solar_azimuth vs. solar_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: sensor_azimuth vs. sensor_azimuth
DATA1           INT       = Array[10000, 3616]
DATA2           INT       = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: packed_cloud_mask vs. packed_cloud_mask
DATA1           BYTE      = Array[10000, 3616]
DATA2           BYTE      = Array[10000, 3616]
totalNum=    36160000
goodNum=    36160000
errNum=           0
errRate=      0.00000

compared variable name: PLATE_CARREE vs. PLATE_CARREE
DATA1           LONG      =  -2147483647
DATA2           LONG      =  -2147483647
totalNum=           1
goodNum=           1
errNum=           0
errRate=      0.00000
